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Geography
101. Match the following

List | List I

A) Kalpakkam 1. News print

B) Jharia 2. Oil refining

C) Mathura 3. Coal mining

D) Nepa nagar 4. Nuclear Power Plant
A

a) 4

b) 4

c) 1

d) 3

U iguiev | uCiguied I

A) &60UTEHBID CF 18 SHHT6i

B) sgmiflwim eTenTOlGmTU & 3Bl

C) wgiym Hevs&Ifl  FHIHIGLD

D) Gmum BT SIEILO6T [56em60UILD
A

a)

b)

c)

d)

NB R WD RN

In the total land area, the minimum forest cover, required maintain the ecological
balance is

a) 50% b) 40% c)33% d) 25%

Qs s BeolIUFliled, HBBIFEWs0 Flobenevenul LFTofldas GahHemealuimet

BB B6M6n LITLILISTeNTE D]

a) 50% b) 40% c)33% d) 25%

The rise and fall of sea water twice due to gravitation is known as
a) Tides b) Ocean current  c) Tsunami d) Waves

&L6V [Bflell 2 WiTe)] LOB®ID ST et ILI(HLD

a) @BHhIH6IT b) Guyifley BT LMibeT  C) &Hearmid d) Siemevmait
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At which place the world’s Extreme Altitude Research Centre is located and which
organisation developed centre?

a) Kashmir, ISRO b) Shimla, IISC c) Ooty, DRDO d) Changla, DRDO
2 &Gl WdeD o wigoren G GHHe0 2 6o QYITUIFF enLOWILD
STRIG6TENHI? DGl 61hFH DIeMLOLILITEL Himleulii L &)?

a) Kashmir, ISRO b) Shimla, IISC c) Ooty, DRDO d) Changla, DRDO

In which of the following states, India’s 1° AYUSH University will be set up?

a) Sikkim b) Haryana c) Karnataka d) West Bengal
@pHwmeler (pHsv AYUSH LIsLSHN60BIDSID 61hIF Bmieulil (Beiterng?

a) HeFb b) emfwment C) STBHTL ST d) GoB@ eumisTeNID

Which one of the following is known as “Shooting Stars”?

a) Comets b) Meteors c) Pole Star d) Stars
LeieumeusiieuBplev 61bd eetiml 61f BLFHHTMIS6T 6lenr DipSluiliLIbH a6 ?
a) ITeL [l FHIHTmhIG6I b) &l ewrsBEs6I

C) Hier BLEFHSIID d) BL&SH B EIssi

Which state in India has largest number of Poultry Population?

a) Andra Pradesh  b) West Bengal c¢) Odisa d) Tamil Nadu
@bHwreled 6bsH WIHHHL WE D&H B Demelled CHTIHI LieviTenswrsb6it
SIWLOHSHI6TENT6 7

a) by Lrézsad b) BoB@ eumIsTeTD

c) @flgm d) s0ipmHT6H

Match the following:

A) Manipuri - 1. North India

B) Mohini Attam 2. Manipur

C) Kuchipudi 3. Kerala

D) Kathak 4. Andra Pradesh

QuUTmBHHIH :
A) el Ly - 1. e @b
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B) Guordlefl o Lib -
C) ®& g

Total internal reflection of light can occur only when light passes

a) from denser to a rarer medium

b) from rarer to a denser medium

c) from one medium to another of equal refractive index

d) from one medium to another of equal absorption coefficient

ool sIEOUTIRES (WP HHCWHCgTafulensr SienLujb?

a) sILT@ oal &5HH60mbLH ST GHOBHS 26 HHHBG OCFeogd CuTg
b) 9ILT GHoBHS 2L HHHNHHH DLTOG 261 HHHBE OFe0VID" CLITZ)
c) g0 s1HOgTefiy @uiligenend. CETemIL @@ 26 &HEeMhbH LBEBTH
oal_HHHME OFeoend GuUTS

d) g0 2 U seu@mb wrmuml (bdh Cewealmend OB @ 261 &&3)60 HbSHI
LoBEBTH 281_HHAHABE OlFsoID CuTH

The direction of magnetic field produced by a linear current is given by

a) right hand thumb rule b) Fleming’s left hand rule

c) Joule’s law d) Ampere’s law

HOTITHG LOGTCIMILLGH 6 (PeVID 2 HOUTGID HMhdH LOHHT HengFenuld
(direction) aamieugi?

a) aueVdBemNE 6115 b) emAmider &L bmas aild)

C) 23%60  &lg) d) sbiwir eflg)

Identify the correct statement

a) Carbogen is an anitodote for carbon monoxide poisoning

b) Fomite fire extinguisher contains solutions of aluminium sulphate and baking
soda

c) Dry powder extinguisher contain sand and baking soda

d) All are correct

gflwren QaTBOBTLmIdS SHewibLig

a) &MT@UTGEIge &miTue GaThenF® alaghdener (ppley GaFulub.

b) GumAL Swenswriumer Ssvdlefluib Feo@UL BMID Femiouled GFTLT
Hevenalullenend 6HTewT(BeTenS

C) 2_ 60T LO6I SSUIENSILILITEI LD6WI6Y OBMID Femouled CFTLTellenend

Qs meni(heiTengl

The Best Coaching Institute For TNPSC, Bank, SSC, Police Exam, TET Exam, Railways Exams
@O 8939 144 344 3 @ www.weshineacademy.com




d) GuBampiu imeaTSHHID

Synthetic detergents are

a) Sodium salt of fatty acids

b) a mixture of sodium carbonate and sodium chloride

c) Calcium salt of hydrochloric acid

d) a mixture of sodium salts of aromatic and aliphatic sulphonic aicds
QFwWBeNE 191 TOIEQ6wIL (BH6NT 6T6TLIG

a) Qaruuy oiflevnisefer Gamoul o (1L

b) Ggmouid &riTuGe BmID GFmguild G&BeNTENTIQeT HeVeN6

c) emaml” Bym@Benmiaaifevdh e Hre0FUID 2 (L]

d) 918ymOys 1wBEID Se0CLIYs FeoBureilds feusHen GCFmoul o (L& Heer
HEVEN6)

Which chemical is used in the place of sodium carbonate to make the soft glass
hard?

a) Calcium carbonate b) Sodium sulphate

c) bothaandb d) Potassium Carbonate

OILD6ITEH 6T0T I EMUI  SHLY 6V SHEBEWIEMITIQUITS LOTBE GFTQUILD SATLGIL 19BE& LIgHevTsH
o LGwWTsLUGSHSILIGISI 61517

a) srevFWD HmTLGeur b) Gamiguild Fe0@LIL

c) awmmid b GyewiGid d) QurL_ndund sriruGer

Match List | with List Il and select the correct answer by using the codes given
below the lists
List | List I
A. Glass 1) Soap
B. Cement 2) Super cooled liquid
C. C7H35sCOONa 3) Mixture
D. Paper 4) Cellulose
A D
a) 3 4
b) 2 4
c) 4 2
d) 1 2 3
uliguisd | uliusd Il 2 et Qurmebsis. Coeid H6 C&THHSLILL (HeTTern
GBWIBsaMedmba Fflwrer ellenLsnwd CHTHosHMH:
U iguisv | U guisv 1l
A. SHe0TemIMIQ 1) Gamiy
B. #Oem 2) e Geflihsd SHreud
C. C47H35COONa 3) &H6VeM6
D. smel 4) QFeveIBG6vmerd
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Match List | with List Il and select the correct answer by using the codes given
below the lists
List | List Il
A. Silver bromide 1) Etching of glass
B. Hydrogen peroxide 2) Photography
C. Hydrofluric acid 3) Purification of air
D. Ozone 4) Bleaching agent
A
a) 3
b) 2
c) 4
d) 1 2 3
uliguisd | uligusd Il 2 Ler QuUrmebsmis. Coalid B CEBTHHHLILIL (HeTTern
GBRUihseMelmba sflwrer allenLenuid BHrHO\%HMH:
U iguisv | uCiguiev 1
A. fleveuT LGgmemio® 1) semrenimiouied OFHIBEGHMHOUD GCFUIH6D

B. smaml e OUT 6B 2) em&lUL g OFHTifle0

C. smamt Gym. .y éb ~idlsvid 3) HMBOB FiHHifdHFHe0

D. @Ggmeur 4) GeuEHLILITSHGEHD SHTy6mT
A

a)
b)
c)
d)

Bohr’s atomic model is based on the following assumptions

a) an atom consists of nucleous

b) An electron remains moving with continuous loss of energy

c) An electron shifts gradually from a lower energy level to higher energy
absorbing one or more photos of energy

d) None of these

Cumfleir oigmioraIfl LlsieumeusmeumBmled 61H6i SigLILIeNL UT6D

2 HUTHSLIULL GI?

a) @ gl BHuydbeillGuimevensd Cememt(BeiTendl

b) @m slevdbl gTesr QBHTLIFFWITN SUBMeL SIPUIL 60T HbBTHFH CBTemtGL
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BnsLBg

C) @@ elevEL]mell @eiml (S) BBE& Guiul L GumliLnefer L BBensv

o2 Nlehdld OamTemip O HauTs GOBHS UMM UL HHeBbH 2 WiThH
SYBBL WL LSHBG LD GuiTsmg

d) Gomanmlweumnsled eTHIeLO60EMm6V

Penicillin inhibits bacterial multiplication because

a) it inhibits cell wall formation b) it checks RNA synthesis

c) it destroys chromatin d) it checks spindle formation
Queldleder,GFsvellen LTdhleflumdseien CUMmBHHMB HbHHHMSH 6J6l6mets0
a) @& OFevsauT 2 _meuTeund HHHSMH

b) @a1 &6 2 BusSdw SBHSB

C) @x GOITLTLI9ene P SBB DS

d) @& evllenigsd BITHET 2 HoUuTUNHSH HHHHMBSHI

Identify the commonly used bio — fertilizers:

1) Rhizobium

2) Rhizopus

3) Anabaena

4) Nostoe

a)1&3 b)2&3 c)1,3,4 d)2,3,4
Qurgieurs UwWeTUGSHSIUGD 2 udifl — 2 JhiseT ereneu?
1) swy@amiiwid

2) emy@amuery

3) SieuLileorm

4) [BT6rOL &

a)1&3

Blood Platelets are

a) Small, nucleated structures

b) Large, non-nucleated structures

c) Small, red in colour

d) Small, non-nucleated colourless structures
ArHHH HLOLE OF60H6IT 6IeILIBLIENG

a) 2 U sMmaL6 dnlgul, Fnlul GlFe0H6N

b)e Lam amBp Guilw GFeLHeNT

c) Aflw, Feuliy Mp GFeLH6IT

d) 2 _Lameubdp wBpid BHBwBp Al QFe0ssi

120. Chemically hormones can be
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1) Proteins

2) Steroids

3) Amino Acids

4) Carbohydrates

a) 1only b) 1 & 2 only 1,23 di1,23,4
Couglwied (pemmLiLy eMMTELOT6IE6T  6T6iLIGH

1) Yromiser

2) erolelQymul(h&6iT

3) SIHlGeum SOleVMHIGEIT

4) &rr6um evaml Gyl (HhHel

a) 1only b) 1 & 2 only 1,23 di,23,4

Diabetes Mellitus

a) Occurs due to excessive secretion of Insulin

b) Causes excretion of Amino acids in urine

c) May lead to complication such as Neuropathy and Nephropathy
d) Is caused by excessive intake of sugar and sugar products
Lwm@uigerd GoedLerd 6T6irLIg

a) oiPs o6y B6Igiee HILLUSBTEL 26wl _TaSBg

b) AmIBT cpsoid HOGeuT DjleVmIGB6T GleuaNCUIBBLILBGS B

c) MwGyrug) oBmid CELGHTUS LTFFamenssmet  BHTBmIaldbaSBH
d) sTdbsemy WBEXID FTHHmI GLUTHL BN HH Jeailsd 2 1 CHTeiTelHT6e0
D GWIL TSB!

Maths GOKUL RAJ SIR

122. If an electric train running at 108 km per hour, crosses a tree standing by the side
of atrack in 10 seconds, the length of the train in meters is
a) 400 b) 350 c) 300 d) 450
QM WG 108 &5 CaussHHled OFevavd @ LOGTOSTLIT alewlg, LITeNSH LD
2 6itenl @ WIHmSH 10 ellemgseied HLbH CaFsvaoTullsi, i6i6euIgu e
bermd (101 Lfl6v)
a) 400 b) 350 c) 300 d) 450

The circumference of the base of a 12cm, high wooden solid cone is 44cm. Find

the volume
a) 606cm’ b) 610 cm’ c) 614 cm? d) 616 cm®

LT HSHTEOTEN @(H HeWIDd FnlDlledl DQF &HMMeNe)] 44 OF.15. LOBWID DIGH6
2 Wb 12 GF.16. 6leolled DIHH6WIDDH FnlDLI6H H6M DI6TIENEUD  HIT 6501 b.
a) 606 Q.15 b) 610 GF.15° c) 614 Qz.5° d) 616 Gg.15°
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10 women can complete a work in 7 days and 10 children take 14 days to
complete the same work. How many days will 5 women and 10 children take to
complete the work.

a)3 b) 5 c)7 d) None of these
10 Quewide e Cousmevenuwt 7 BHILH6rlle0 (WQLILTTH6T. 10 GHLHmHEH6T DCH
Couemevemwt 14 B Heifled QFUIH APpQULITTH6T. 5 GuUedeT BmID 10
GLHMHB6IT Caihal i6iBeauemevenil 61dhHHemen BT Heifled GFuIg (LPIQLILITTEH6i?
a)3 b) 5

c)7 d) GoBanslwieuBmlsd 6T1HIOLOELM6V

The H. C. F of two numbers is 8, which one of the following can never be their
L.C. M?

a) 24 b) 48 c) 56 d) 60

Qreni® eTevIbeNeN 2 WIT QUTHIS HTyenll 8 elefled LisialmeusmalBlen. 61  6T6u0r
Sleupmlelt OFFM CuTgdl L MISTS RHHBS (PIQUITSH

a) 24 b) 48 c) 56 d) 60

The greatest number that exactly divides 105, 1001 and 2436.is

a)7 b) 3 c)9 d)5

105, 1001 1oB@ID 2436 &l elewibene LSFFNWTS IGHHGHWD LMW 6T6wr.
a)7 b) 3 c)9 d)5

The value of X in the equation (925)2 —(225)* = 1000 X is

a) 805 b) 805000 c) 1850 d) 1.85
“Lsiu(pld FLOGILITL 1960 XeiT 'LO&ILIL ersiten? (925)° — (225)° = 1000 X is
a) 805 b) 805000 c) 1850 d) 1.85

What.could be the maximum value of R in the following equation, where P, Q and
R represent the unit values 56 P + 37 Q =48 R = 14818

a) 4 b) 8 c)0 d) 6

Letteuld Fosiimiged P, Q ommib R oyslulensl Sisv@ 2 mINIL&6iT eTellev, R 6ot
SFHBUF FHI eHeuTs Rmeb@b? 56 P +37 Q=48 R=14818

a)4 b) 8 c)0 d) 6

One half of one third of one sixth of a number is 10. Then the number is
a) 350 b) 360 c) 340 d) 375

Q@ elerewien FAUTHUIEL cPIBIEN [ LML Hsled @ WLMHIEG 10 6T6il60
DIbSH 61601
a) 350 b) 360 c) 340 d) 375

130. The 20" term of 2,10,30,68 ....... is
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a) 408 b) 8020 c) 820 d) 420
2,10, 30, 68, eleiLIHe 20 b 2 MLy
a) 408 b) 8020 c) 820 d) 420

Two pipes can fill a tank in 10 hours and 12 hours respectively while a third pipe
empties the full tank in 20 hours. If all the three pipes operate simultaneously, in
how much time the tank will be filled?

a) 7 hours b) 8 hours c) 7 hours 30 min  d) 8 hours 30 min
Qe GTUIS6T e CHTLIgenwl (PpewpBuwi 10 wewl WBWID 12 Lo6w
CBIHHled BT Fnlglieney. GLOGID APSIBTEIS! @B GWTUI UMD (PIQ

Osm 1gemwiuid 20 wewll GHIHHe0 &MY OQFUILIS FnlgUiFH]. CPETBI G LOTUISEHLD
@61 GBrHaled QFweOLILLT OFHT Y (WPUsUSHID HFbL sleieuene] GBHIL WGW?
a)7 e b) 8 e c)7 wswil 30 BO. d) 8 wewl 30 MO

Find the missing number in the place of “?” 3: 11:: 7 :?

a) 18 b) 22 c) 29 d) 51
3:11:: 722 “?” a3 @)L SH360 e BUL L 6lemTensnid HewIBLIIG.

a) 18 b) 22 c) 29 d) 51

In what time will Rs 1000 become Rs. 1, 331 at 10% per annum compounded
annually?

a)2 b) 3

c)4 d) None of these

h 1000 ueigl 10% UeiIBHe &l BBl 19 IHHH60 615HHMN 6B H6I60 (.
1,331 s@b?

a)2 b) 3

c)4 d) Gumampiwieumiled eTHIOD ER6L6M6V.

. 1 oL :
A sum of money doubles itself at 61% per annum over a certain time. Find the

number of years.

a) 16 b) 14

c) 20 d) None of these

THHME Y eWI[HH6M60 @ GBI L DF60 6%% el lgufled S LDLMIG HGLD?
a) 16 b) 14

c) 20 d) GoBaaswieuBnlsd eHIO D Ee06m6V

A father said to his son, “your age now is the same as my age at the time of your
birth “If the father’s age is 38 years now, the son’s age five years back was
a) 14 b) 19 c) 24 d) 38
R HHMSH B QFTLEBIT, ‘B LIBHGLOUTHI 6T auwigh RICUTH 265
g oaiml. SQaim HhmHule sl 38 DHIBHET 6I6IBTE0 MHE
QUMBLMIBEHEHE (LP6ST LB 6 6UUIG] 6T60160T ?
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a) 14 B Hei b) 19 ouewidsl  €) 24 o emiBH6i d) 38 oy eutHH6i

On selling a chair at 7% loss and a table at 17% gain, a man gains 296. If he sells
the chair at 7% gain and table at 12% gain then he gains Rs 400. The actual price
of the table is

a) Rs 1400 b) Rs 2400 c) Rs 400 d) Rs 800
BTBsETe0mW 7% Hadl HHBGD, Cengmenul 17% ReoTUHHBESLD @HE6
QlBBTEL Dieuel hH. 296 SevmLIDeNL &HBTel. RenHBW HTBHTeN 7%
RQeoTuSHHBGD Ceney 12% ReoTuHHBSGHD aBBTeL DieusdT GUBID E60TLILD
400 etealled Gosmeguilelr 2 ewTemIOWITEN &il6M6V.

a) a 1400 b) 5 2400 c) em 400 d) e 800

Vel murugan sir qc finish on 1.11.18

137. Agirlis 37.5 m away from a tower. Her eye level above the ground is 2.5m. The
angle of elevation of the tower from her eyes is 45°. What is the height of the
tower?
a)35m b) 37.5 m c)40 m d)42.5m
m CamursHsHedmba 37.5 16 SMIHHe0 Heiiml OCeTenmngme@Gd @ LwTemiel
Camursden 2 _FFlemuws 45° gBme CHTausHH60 HITMIBMTET. SIe)EHML LI
SenLBHlemeoll UTTensud Caml SHemgulledlbbel 2.510 2 wFHHe0 2 66Nl 6eleflev,
CamyyHdeit 2 wigld eT6drent ?

a) 3516 b) 37.5 16 c) 405 d) 42.515
1 1
3 3
Simplify: (1728)1+ (343)1
(625)Z —(36)2
a)4a b) 3
1 1
. (1728)3+ (343)3
T
(625)Z —(36)2
a) 4 b) 3

Simplify the following:
1Yo -1 4 -
(64) 1(64) 2 T (32)5 (32) 5 . ;
a) 13 — b) 15 — c)17 — d) 19 —
16 16 16 16
LT6dTe) HeUeIIBENBE  Fi(HEHSb:
1Yo -1 4 -4
(a) +(64)—+(32)z-(32) =
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)17 =
16

A function f: [-7, 6] =R is defined as follows f (x) 5 xX2+2x+1 -7<x<-5
X+5 5<x<2
x—1 2<x<6

4f (=3)— 2f (4) N
f(—§)— 4f(1)

a); b)E C)Z

what is thevalue of

gy f: [-7, 6] =R Spdbaemiaurm euenFuIBISSLILL (HeTens]
f(x)= [x*+2x+1 -7<x<-5

X+5 -5 < x < 2 aranfl6

x—1 2<x<6

4f (=3)— 2f (4) 2 et

) R
raryraa LDFHIIL] 61631601 ?

b) 2 0)2 Q)2

The radii of two circular ends of afrustum shaped bucket are 15 cm and 8 cm. If
its depth is 63 cm, find the capacity.of the bucket in liters (Take x = g)

a) 2.6994 liters b) 26.994 liters ) 269.94 liters d) 2699.4 liters
QM RewLHH6wIL_ailgalleomsn eumeiuilenr GOBLMB WBMID QLB DLTHIS6NT
BB 15 .15 wBuId 8 OF.15 Guebd Wpd 63 CF.15 srefled, DiGH6
Qameienenenal 601 Lfle0 &HTewid (X = g)

a) 2.6994 &L i b) 26.994 &Sl Lir ) 269.94 6Lt d) 2699.4 60L_LiT

The diameter of a circle is 10 cm. “P” is the point lying outside the circle. From
that point “P” two tangents are drawn to the circle. The length of each tangent is
12 cm. What is the distance between “P” and the centre of the circle.

a)12cm b) 13 cm c)15cm d) 10 cm

10 Q&8 el L(psiten el LHenr GeusllGui “P” o163 LsiTerll 2 _6itengl. Lsiter
“P” LleVmbal eIl LHABEH Qrenih OHTHCHTHH6T auenFUILILIL (BH6TernHI.
@6uGeuTH OHTHECHT 196 Hem(pld 12 GF .15 eTelled QI L HFHleT ewOUIHHBELD
Leterll “P” @b @emLlILl L QHTensve) 6l6oTen?

a) 12 Q.16 b) 13 Q&.15 c) 15 GF.18 d) 10 G#.18

143. Medianof12,17,5, 8, 13,6, 9 s
The Best Coaching Institute For TNPSC, Bank, SSC, Police Exam, TET Exam, Railways Exams
@O 8939 144 344 11 @ www.weshineacademy.com




a) 8 b) 9 c)12 d)17
12,17,5, 8,13, 6,9 aiai3  alleuymidseien EenLHlen6e0 616
a) 8 b) 9 c)12 d)17

Sum to n terms of an Arithmetic progression is 2n” + n then eighth term to

a) 136 b) 36 c) 131 d) 31

QM FL(BH OHTLT euflenguier n o miisefer gnbHaHe0 2n” + n 1l SIS
GILLMD 2 mii] e1g?

a) 136 b) 36 c) 131 d)31

Simplify: X"” 3x+9

31 xZ+x+1

a) — b) 3x + 1 ¢) 3x -3 d) —
3x+1
. x+3 3x4+9
FOHOGH: x3—-1 * X2+ x+1
1 1

a)m b) 3x+1 C) 3x—3 d) . W

What is the G. C.D. of 6 (2x> =3x -2), 8 (4x* + 4x + 1)and 12/(2x %+ 7x + 3)?

a)4 (x+3) b) 2 (2x + 1) c) 8 (2x+3) d) 8 (x + 3)

6 (2x* —3x-2), 8 (4x* + 4x + 1), wBEID 122X *+ 7x* 3) ey S weuBme L5.GLIT.6x.
6T60T60T 7

a)4(x+3) b) 2 (2x + 1) c) 8 (2x + 3) d) 8 (x + 3)

Match the following and choose the correct answer:

List | List =1l

(Provisions) (Article)

a) Writ Jurisdiction of the Supreme Court - 1. Article 13

b) Suits against Government - 2. Article 226

c) Writ Jurisdiction of the High Court - 3. Article 300

d) Source of the power of Judicial Review - 4. Article 32
- 5. Article 166

a)

b)

<)

d) 5 4 3 2

BB aBenm GUTHHSH Fhlwmer elenLenul CHiThHOHHHHD
Ul iguied - | uliguieo - I
(SIDFMIHEIT) (el &e6iT)
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a) 2_&FgF BAHwaIBHSHer CUITenswl HHMIID -
b) oIFTRIGSHBE 6IHTT6N 6D EH6N

C) 2_wisd) etmH e GUTensmr DIFHBMILD
d) BHLLEIITUIE] ASSBTTHSl6N U HTLD

A
a)
b)
c)
d)

The ‘Procedure established by law’ in Indian Constitution is a feature borrowed
from the constitution of

a) South Africa b) Japan c) Ireland d) Canada

@AW STFWeOHOIT6T ‘FULLILIQUITET L 6NIQEHmNEd 616m  SulsOL QUM L
SITFUI6VEMLOLIL]

a) Opaenmiiflasr b) eglimer C) SIITeUTHSI d) sevrLar

Match the following and choose the correct answer:
Speaker Tenure
a) Mavalankar 1.1962-67
b) Hukam Singh 2. 1980 -1989
c) K.S. Hegde 3.1952-56
d) Bal Ram Jakhar 4. 1977 - 1980
A B D
a) 3 1
b) 3
c) 2 1
d) 1 2 3
SPHMILeUBenB CUTHSHEH Fflwmen allenl 61(1HIH:
FUMBTWISST GUHLLD
a) LOTE6VMmIGT 1. 1962 — 67
b) emésid 2. 1980 — 1989
c) Bsm. sTor0. OlamHBGL 3. 1952 — 56
d) umed WD TEHBIT 4. 1977 - 1980
B

The Best Coaching Institute For TNPSC, Bank, SSC, Police Exam, TET Exam, Railways Exams
@O 8939 144 344 13 @ www.weshineacademy.com




The power to Scrutinise the report of the Comptroller and Auditor General of
India is vested with

a) The President b) Union Finance Minister

c) Finance Commission d) Public Accounts Committee

QhHU HWevenLD Hewlldema WwBMID S GUUTLLTeflen ipidensenwl UflFeoenest
QFUILD HBTTHMS CUBDBI6TEN DIHLOLIL|

a) GRWTSH HEM6VIT b) &AW BFH DiewFaF

C) HFH DLEMEWIWILD d) Qurg seEG G

Which of the following Constitutional authority can hold office during the
pleasure of the President?

a) Governor of State

b) Election Commissioner

c) Vice- President of India

d) Speaker of the Loksabha

LNetteuBLlD  DITFUlevsnIDlIL] DIHBTTUHIOLILH6T60 GIQUITSH  SHeMevalil  ell(HLDLLD
alemy 1o B uSHeuled SMmebad FmiguieuT wiImir?

a) LTH6L Y ETHBT

b) BaiTgHe0 L ememIULIT

C) @hHW HIMEHGHIQUITT  HEMEVE)T

d) wEsHenenal  FUMBTUIST

What are the following Articles of the constitution explain the distribution of
revenues between the Centre and the States?
a) Articles 268 —1276 b) Articles 277- 280

c) Articles 352 — 356 d) Articles 378 — 379

0HHud. DBV - SIHITUT LUSTHSHEMUIL LMY &SIDSHE6WIL 61HFH  HTFUIEVHLIDLILIF
FUAL. @6 ell6d @ 6rmen?

a) el@aseiT 268 — 276 b) ellgaeir 277- 280

c) ell@seir 352 — 356 d) eilgset 378 — 379

Who has been appointed the first-ever female major general in the 47 years
history of Bangladesh?

a) Nasreen Jahan  b) Selina Hossain  ¢) Monica Ali d) Susane Giti
amIECHF euTeoTBNed (PFHevL (pewmBWITad Guemr Gt Glegeryeors

WO SSUILIL L 6UT  WImiT?

a) merofledr 2366t b) QFedenm Cammengein

c) GurefaT 160 d) &zen &g
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In which part of the Indian Constitution ‘emergency provisions’ has been
incorporated?

a) Part XV b) Part XVI c) Part XVII d) Part XVIII
AbHw PFwevemoliled 61hH LGS UL ‘DieusFTBlensoll LyabL emigbeir
CFiTeb L ILIL_19 (H & &5 60113601 ?

a) uexH XV b) u@a XVI c) ued XVII d) uga XVl

The Committee on Estimates, consisting of 30 members, is constituted by
a) the Lok Sabha only

b) the Rajya Sabha only

c) both the Houses of the Parliament

d) the States legislatures

30 2 _puifenisenend GEmewiL WHIT B G 2 (HeuTHSLILBMSI

a) wasenenauuleBbdl LU BLD

b) wrHevkiseneneuuiedbgl 10U (HLD

C) UTFTEBHLGTIBHA I R[H DiMeUSH6M e HHSHID

d) wrlev FL L weipmIseTel®Hba

The right restricted by Preventive detention is
a) Right to freedom

b) Right to constitutional remedies

c) Cultural and educational rights

d) None of the above

SHBUIL HTe6VT60 LTS HHLLBID 2 flenip

a) &gbATHHDBeonen 2 flenLo

b) oirdlwsveniolil] rgISTLLN6 o _fenio

C) HEOTFETT IDBBID Hevelbmmen o _flenio

d) @emeu eTHIRD F60eM60

By which amendment, the associate status of Sikkim was abolished and made her
a full-fledged State (no.22) of the Indian Union?

a) 35" Amendment b) 34™ Amendment

c) 36" Amendment d) 37" Amendment

s STFWVMIDLIL] HHBHHH (psvld, FaHb-61 Eeneamt Db SV
QUSSILLH, BHHW MESWSHHeT 22615 LOTHEVOTS LOTBSIWLLOSSILIL L &7
a) 35 augdl sirFwievsniolil] HH S D

b) 34 eugl SiyFluisvenioli] &HHEHSHID

c) 36 augl SPFwevenioliy FHmBSD

d) 37 eugl Sirfluievsniolil] &H&HSHLID

158. Which Article deals with the appointment and Service of Comptroller and Auditor
General of India?
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a) Article 147 b) Article 148 c) Article 149 d) Article 150
6ibdp ol BHHU HM6VEMID Hewidh@ OBBID Hewlbend HSTHUlen mHUILD6TLD
oBE@ID Uslldemen UMM elleurdobanas?

a) elg 147 b) eflg) 148 c) allgd 149 d) eflg 150

Which constitutional amendment added four new languages to the 8'" schedule
of the constitution?
a) 91° Amendment — 2003 b) 92" Amendment - 2003

c) 93" Amendment — 2005 d) 94™ Amendment — 2006

6bdH SFFwevenioli] HmBHHID DFFWevenioliien Saughl i L alenentuisd HTeind,
ysw Gmplssnen CFiTdHsHal?

a)91 eugl FLLHHNMSHWD 2003 b)92 ezl FLLGHMmSSD 2003

C) 93 augl FULH®SHWD 2005 d) 94 eugl FULHAMmBHH0D - 2006

Which one of the following persons was selected as the President temporarily at
the first session of Constituent Assembly?

a) Sachidananda Singha b) Rajendra Prasad

c) Dr. B. R. Ambedkar d) K. M. Panikkar

LNeiieumd BUTH6I60 6T6uT - DIFFluled SiemioliL] [HiTewiud FenLiulen HBHT6VIH
HMEVUTTE (PFHV Fnl L HSHI6D CHiTHOHBHHBILILILEIT?

a) s&dflembg FlediQnm b) pr@xghaly LITaFns

c) LrsLT..eu1. ibCughasti d) Ga.611D.LIeuellEb BT

History

161. Arrange the Legislations/Acts, which were introduced for the emancipation of
women, in chronological order
|) SaradaAct
II) Abaolition of SATI Act
[11) Dowry Prohibition Act
IV) Abolition of Devadasi Act
a)l, 1, 1v, b) I, II, 11I, IV c) I, 1, 1,1V d)IL LIV, I
Quest alBHMEVBHTE QUIBBLILL L. FL L HIGM6T HTev auflenaliLBshs (SIS
) gmysr FU LD
) 58 @ulliyF FLL1b
) eupsl Fewemid; HmLF FLLID
IV) Bpeusnd @uilliygF &1L 1b
a)l, I, 1v, 1l b) I, 1L, 11, IV c) I, 1, 1, v d)IL, LIV, 1

Match List | with List Il and select the correct answer using the codes given below
List | List 1l
A) Khan Bahadur 1. Lucknow
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B) Kunwar Singh 2. Kanpur
C) Begum Hazrat Mahal 3. Bihar

D) Nana Shahib 4. Baireilley
Codes:

a)
b)
<)
d) 3 4 1
alflens | 2 Ler auflens |l —swerl QUTHSHS ouflendH6mHHE
SIPO&THHHILL(Beiten CHTGULNe MBS Fhlwmer el ulener Gefle C&Fuls.
aufleng | aufleng I
A) &6 LSBT 1. 6ubGeurm
B) getteu fmi . BITEOILYT
C) Gusldb aBFTH LDAMBTEL . st
D) mrenm FremeL . emLemUIe
GBRuibhsen :
A
a)
b)
c)
d)

The Ghadar party'was organised under the leadership of

a) Lala Lajpat Rai b) Thilak

c) Bipin Chandra Pal d) Lala Hardayal

HTHI  HLF) Hemevenoullell S FBLBHSILLL SHI.
a) 6UT6ON 6VELIG Ul b) glevasir

c) Udlenr FhdHrumed d) eomeor amiTFHwImeiT

Assertion (A) : The Indian Councils Act also called Morley — Minto reforms was
introduced in 1909.

Reason (R) :Lord Curzon’s imperialistic attitude, autocratic rule and lack of
sympathy for Indians and the failure of 1892 Act to fulfill the
legitimate wishes of the people.

a) Both (A) and (R) are correct and (R) is the correct explanation for (A)

b) Both (A) and (R) are correct and (R) is not the explanation for (A)

c) (A) is right; (R) is wrong

d) (A) is wrong; (R) is right

amml (A) (1omTBe0 — WGHCLT FTHA(HHHID 6Tedl DMIPHBLILIGH B @bl
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HeyeiFled FLULID 190960 gBUBSHSILILL F).
&myenrd (R) : &iaFenn Lyyeledl garTdusbHuBUTSE, SHeelFamauwmer &,
AbHwiTsell D CQsTeni @yohalieientd BBID ShEH Ul DHH6T 68
Blwrwiorer GeuswiBGCsTeiidemen HenmGeummd sHeuplw 18921b
eI FLLLD.
a) mbmpl (A) ommpibd sryewid (R) @pewiGdo Fflwimeneney Goevid aSmyewid (R)
ol (A) alisren Fflwmen ellendbasid
b) amm (A) wBpid sryewid (R) @yewiGd gfilwimenensy Gwsvid  &myewid (R)
amm (A) elBarer eflendasld Si6060
c) sapml (A) &, smyewond (R) seuml
d) samm (A) Heumi; sryewnd (R) &

Tipu Sultan died at the battle in

a) Srirangapattinam b) Mangalore

c) Mysore d) Bangalore

SHiyseogsrenr Gumfled 2 ulflipbs SL 1D

a) friIsluLIgeND b) wmiseEnT C) MGy d) QuikigErnT

Choose the incorrect pair regarding the Acts and.the years they are introduced.
a) General Service Enlistment Act — 1856

b) Religious Disabilities Act — 1850

¢) Indian Civil Service Act — 1856

d) Post Office Act — 1854

BIPHHEMIL. DM HFH. QeMeNBEHLD FLU L BIHEHLD DUFH AS(PSILIBHSHSILIL L
DLEWTNL FTTHSHNEU: EHI6V - 6THI HEUMBTE G660

a) QuTHIFCFemar  @F UL CHTHOHBHGHWD FU LID - 1856

b) Frowis@GmBLUTG F_LID - 1850

c) @bPHw Bitaunsliueisenossten FLLID - 1856

d) sumed SiveIenEF FULID - 1854

Consider the following statement

I) The battle of Plassey established the British control over Bengal

II) The Battle of Buxar made the East India company a sovereign power of India
a) Only | is true b) Only Il is true

c) Both I and Il are true d) Both I and Il are wrong

BIPHEWIL CFTBOBTL6MT H(HHIH

1) DenmALGUNT sumiBTeNnHH60 PmiasGsowifledt &l BrLTL ewl CHTBmIeHHSH!
) usarir Gurt @BHWT (PUPAIHID SHIS BpEBHAHW ST UN6T
SLEHDLODW  GJBLBSH WS

a) l B Ffilwm@d b) Il oG Filwr@id

c) lopgip 1l FAlwrg d) l oBmid | Heumr@id
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Name the organisation established by Devendra Nath Tagore

a) Sangat sabha b) Tatva Bodhini sabha

c) Indian Reform society d) Brahmosamaj

CoHralbHTHTSH HTaT gBUBHHW DwLITeT Guweny GSBLULIBHS
a) FRIGSH FUT b) s5aeuBuTHel FuT

C) @bAW FTHMSHH FhiHLD d) Myibw Foregid

The first patriot who started the Individual Satyagraha in 1940 was
a) Gandhi b) Vino Bhave

c) Jai Prakash Narain d) Madan Mohan Malaviya

1940-60 HelipUT FHHWTHTH CUIITLL HWH HiOUHH MAUHDH (PH60 CHFLIGBHT
wimir?

a) &b b) ell@ermumeur

C) OQWILTEHTOS  HITFTUICHT d) iogpetr Gomamest omeTeNUIT

In which year did Rajaji become the Chief Minister of Madras for the first time?
a) 1947 b) 1940 c) 1930 d) 1937

WPHT (PH6e0TH JTTed 61hdH  UeWIB OFiTenenuien (LDHEVHLOFSFT 60?7

a) 1947 b) 1940 c) 1930 d) 1937

Which act empowered the crown to create a board of six commissioners for the
affairs of India?

a) Pitt’s India Act b) Regulating Act

c) Charter Act 1793 d) Charter Act of 1813

hHF FLLID YW HLORITHM6eNES BT surfluid SbHw alleusmTymisensnnd
Bl HHlh OBTaiTen DTFFT HUWLW6TD OFUILIEVTD 6Ted Fnmluigl?

a) i @bHwsF FLb

b) @uom@ @We»BF FL L 1D

c) 1793 ‘ap e UL WF FULID

d) 1813 oilp et Ul LW FLULID

Consider the Statement and Reason, choose the correct answer from the codes

given below :

Assertion (A) : The concept of Federalism for India is originated in the First Round
Table Conference.

Reason (R) :Itaimed to counterpoise the extremission of Congress men.

a) Both (A) and (R) are true, (R) is the correct explanation for (A)

b) Both (A) and (R) are true, (R) is not the correct explanation for (A)

c) (A) is true but (R) is false

d) (A) is false but (R) is true
&6l CBETHHBUILLL HHHHIMHeNL, HTJewID, QleNbsHMmSH UUle| CFUIH
QasrhadsilBeTen Guluibhseiellmbgdl Fhlwmer allenLemul BHiTey GFul.
MBI (A) : @bHwreled gl LT Hdb Faml elailgml (PpHev eul L Goeney
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LOTBILIQ6D 2 SHUILDTENIG.

smyenid (R) : @& stmdSFevstyiseilen SHalyeursdll GUTbdener Fiomerobas
TBHHHIH OBTEMIL  6THT HEWLWITGLD.

a) (A) oB@id (R) @pesaiGio Ff. (A)eir sflwmenr eflenéasid (R) @L.

b) (A) oBmib (R) @yewiio afl. (A) &1 Fflwimer elendasid (R) 16060

c) (A) s eemmed (R) Houmi

d) (A) seuml sueoimed (R) gifl

Economy

173. MODVAT — means
a) Modern Value Added Tax b) Manufacture Value Added Tax
¢) Modified Value Added Tax d) Multiple Value Added Tax
MODVAT eI
a) pedenr ALY Fal (B 6uffl b) 2_BusHd ALY Fal B euffl
c) ImdHw Ay LG eufl  d) usdapemen WA Fnl (B 6uifl

The New Agricultural policy. was announced in the year

a) 1989 b) 1999 c) 1992 d) 2000
ysw Geuenmenitenio ClsmeiTend  SiplebHUILIL L. Sy6016
a) 1989 b) 1999 c) 1992 d) 2000

RIDF means

a) Rural Insurance Development Fund

b) Rural Industrial Development Fund

¢) Rural Infrastructure Development Fund
d) Rural Investment:Development Fund
RIDF ar6iiiig)

a) dgme STUS B (perCarbm g

b) &lyrio OFHmed (eirCerBm M)

c) Aymo Fl Lenoln] (WpeiGaiBm B3

d) Sgmo WwHeSLB psibains B

Adam Smith’s famous book “Wealth of Nations” was published in the year

a) 1771 b) 1773 c) 1775 d) 1776

YLD evlGHlen BTHHeMeT CFevalld sl WS 2 wiihsh HI6L Geuefuf L L
24,6001(h

a) 1771 b) 1773 c) 1775 d) 1776

177. The Kisan Credit Card Scheme was introduced in India, in the year
a) 1996 — 97 b) 1997 — 98 c) 1998 - 99 d) 1999 — 2000
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@pHwreled aleusTul SL6T DD B PSLILGSHSILL L. D601(H
a) 1996 - 97 b) 1997 — 98 c) 1998 - 99 d) 1999 - 2000

When was National Planning Commission set up by Central Government?
1) March 1947

2) March 1948

3) March 1949

4) March 1950

a) 1only b) 2 only c) 3only d) 4 only
wHFHW pFmev GuTgH CaHFlw FHULSGHW OHTLmSLILLL GI?

1) g 1947

2) s 1948

3) wrirE 1949

4) wrrEF 1950

a) 1 ol @b b) 2 i’ Bid c) 3 G d) 4 I G

The “people’s plan” was formulated by

a) Mahalanobis b) Jawaharlal Nehru
c) M. N. Roy d) B. S. Minhal
OHEH6IT HILLID 616iILIMS 2 ([HEUTHEWIGUT

a) GorssomermLierd b) suamiTevTsy  Ghm
c) M. N. grul d) B. S. iflett@mmed

Reserve Bank of India was inaugurated in

a) April 1930 b) April 1935 c) April 1947 d) April 1950
QbHw fFiTel cumidl SleNHBLILL L ) 601(h

a) gliyev 1930 b) egLiy601935 c) gliys01947 d) gliys01950

C.A qc finishon yasar 1.11.18

181. The 2018 International Day of Tropics is observed on which date?
a) June 27 b) June 28 c) June 29 d) June 30
&FireuBsma OeuliLioswi 60 SHlemd DiemIFfdsiLBeug s1GumTgH?
a) June 27 b) June 28 c) June 29 d) June 30

Which Indian sportsperson was the India’s flag-bearer at the closing ceremony in
the 18" Asian Games?

a) Bajrang Punia b) Rahi Sarnobat  c¢) Rani Rampal d) Vinesh Phogat
186ugl Flw allewemum (Bl Gumiiguilesr (pgellsd @bFHul GaETgenul &HLDHSHI
Qe ellememwimt B e wimir?

a)ugggm yellwm  b) gansl &FmGenmul.  c) grewdl gmbumed  d) elGaed GUBHTL

183. Which country has recently announced to launch Mars Mission “HOPE” by 20207
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a) Oman b) UAE c) Iran d) Israel

2020-60 “HOPE” 6163 QaFeleuruissten QFuwbenssCsmenst igmiliLiaeTen HT{H
61517

a) gLoedt b) @& oy sufysb

C) FFYT6T d) @er0Bys0

Which state government has launched ‘Star — Rating’ system for industries to
check air pollution?

a) Odisha b) Punjab c) Uttar Pradesh d) Madhya Pradesh
‘Star — Rating’ (penpuwinengl &TBBI WOTSUT DL HbHdbd QHTHMB
HeIahiSEhHE AeibsILbBEBSH. OTHeVD 61517

a) gigerom b) uehal

c) 2 58 Lyésaid d) wsHwr y@said

Mt Everest Friendship Exercise is the name of military exercise between:
a) India & Nepal b) Nepal & China

c¢) India & China d) India, Nepal and China

a1el0FerOL emev BL LM LulBd 66l Qrremiell WulB&. eibs BTHHEHHSE
RenLuied BHemL GUBBEH?

a) @bHwr & Gpumend b) Gpumrenid & Feorm

c) @bAwr & Feum d) @b@wir, Gpuremd & d&eorm

Which of the following countries have recently celebrated the 100 years of Battle
of Haifa?

a) India & Israel b) Israel & UAE

c) India & Afghanistan d) Pakistan & Iran

FiugbFHev ema. .UM _Burfledr 1006ugk Sewienl GGTewIL MUl BHTHSH6T Wmghl?

a) @pFHuwr (& @ervByed b) @evBysv & MmBAUI T SISTHID

c) @pAHumr & lisraievsrer  d) urderogTen & FTe

Which state government will observe 2018 Independence Day eve as Shahid
Samman Divas to honour martyrs?

a) Madhya Pradesh b) Andhra Pradesh

c) Himachal Pradesh d) Arunachal Pradesh

201810 eviI(h FHHAHT HbHmd Fald FLOeT HeuTerd eIeiiml 6laTewrLmgul
LDT[Bl6VLD

a) wHFw LFéssLb b) 2ubsly LyCsed

c) @wrFFev LIF@HFID d) oimemagFev LgBHFID

Which acclaimed personality has been selected for 2018 Rajiv Gandhi
Sadbhavana Award for promoting communal harmony and peace.?
a) Raghuram Rajan b) Muzaffar Ali
c) Amitabh Bachchan d) Gopalkrishna Gandhi
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Felpb  HELVIENIHBHMBU|D DDIDHMUIUD 2abGHIUSBEHTH JTe36) HHE)
gngueem el — 2018 WITHHE eUPBISLILILL g7

a) J@ITD  [Jregest b) wpamuir o160

C) DIOHTI LFFebt d) Gsmumsvamagent HrbH

The Mughalsarai junction has recently renamed as Deen Dayal Upadhyaya
railway station. It is located in which state?

a) Bihar b) Uttar Pradesh  c) Uttarakhand d) Delhi
Qorseoamymul FhAI] FLOUSHH6L Heor HWImed @ruied Hemsowlld eTer GLIWIT
WOIBBUULL S B DADLDHSHIGTEN LOTHeD 61517

a) s b) 2_s8r F6xsaD C) 2 S aHmeni d) GL6veV

What is the current number of India’s Biosphere reserves included in the World
Network of Biosphere Reserves?

a)8 b) 9 c) 10 d)11

o uiT@smen SiemlLTengdl RbAHWITalsd GIOTHHID 6THHMe 2667

a)8 b) 9 c) 10 d)11

The 2018 Nallur Kantha Swamy festival has started in'which neighbouring country
of India?

a) Bangladesh b) Bhutan ¢) Sri Lanka d) Nepal

BEVRIITT HHBHTHUTO HHONPT 61HFH WML BT 1960 BL [HHHI?

a) eumisTen GHFd  b) LyLmeir C) AeomIends d) @pumenid

Who has been appointed the new Governor of Jammu & Kashmir (J & K)?
a) Satya Pal Malik b) Tathagata Roy

c) Satyadev Narayan Arya d) Baby Rani Maurya

b SHiedbflesr LHw eEmHHBT wmr?

a) &5WLmeL 10765 b) sHHHT FIUI

C) FHWBHEY BIFTUIEHT SpTUIT d) Guld pgmewl Guoemflwim

The book “281 and Beyond” is the autobiography of which Indian cricketer?
a) Rahul Dravid b) Sourav Ganguly c) Sunil Gavaskar  d) VVS Laxman
“281 and Beyond” e1eii3 LssHsD 61hdH HMeH0sL aiyfler swsfeang

a) Ir&ev ppTeill.  b) Farel sm@Ge) ) safled HaumerosT d) VVS evdbadloet

Who of the following have won the 2018 Rajiv Gandhi Khel Ratna?

a) Hima Das & Manika Batra b) Virat Kohli & Mirabai Chanu

c) Jinson Johnson & Savita Punia d) Neeraj Chopra & Jiwanjot Singh Teja

2018 gmeded &b Cssd FHheom ellmad GUBDBeUT?

a) anfiom HTerd & DeWABT LGTT

b) ellgnd Gxmed & WSyTUTW FTEm

c) et mreniFen & Fallar Leflwm
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d) By Gamigr & oSeueii@mriHdm GHegm

Who has been appointed new chairman of the Defence Research and
Development Organisation (DRDO)?

a) G Satheesh Reddy b) Sanjay Mitra

c) S Christopher d) Mrinal S Das

DRDO-all6t &l Hemeveui wimir?

a) G #ged QrLig b) geregui 1O&HyT

c) S &flero@Lmuir d) Wflermed S. sHmerd

Which committee has been constituted by the Central government to coordinate
the discharge of floodwaters from Kerala — Tamil Nadu inter — State projects?

a) Narendra Kumar committee b) Kirti Sharma committee

c) Ajit Doval committee d) M S Das committee

Oeusitenreny Bayemr — HOUPHID HI L BIBEHHE DI DHH U SFFT60
Hundldsiul L G

a) BeIHAHT G G b) Srdgl Fior GWw

c) 91296 CaHmalsd &ap d) M S 1 &ap

Which of the following is the India’s biggest cyclotron facility, which recently
became operational?

a) Cyclone — 103 b) Cyclone — 123 ' ¢) Cyclone — 68 d) Cyclone - 30
@pHwmeler OSICUTNW enFHCamTLLgTer HI LD HOL (PenBHE 6UbHSHI6NeNHI
SIFHe Gl

a) Cyclone — 103 b) Cyclone —123  c¢) Cyclone — 68 d) Cyclone - 30

What is the India’s rank at the 2018 Global Hunger Index (GHI)?

a) 113" b) 94" c) 44" d) 103"
FireuBs&: LASHHUGUTT @GHMuIG — 201861 L @bgHwimeler @ 1b?
a) 113" b) 94" c) 44% d) 103"

What is the theme of the 2018 International Day of the Girl?
a) With Her : A Skilled Girl Force

b) Empower Girls : Before, during and affer crises

c) Girl’s Progress = Goal’s Progress : What Counts for Girls

d) The Power of Adolescent Girl : Vision for 2030

gouCahg Ouew @GLHmBHHeT Hed - 201860 MLOUIGHH(H?
a) With Her : A Skilled Girl Force

b) Empower Girls : Before, during and affer crises

c) Girl’s Progress = Goal’s Progress : What Counts for Girls

d) The Power of Adolescent Girl : Vision for 2030
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Who has been named as the flag-bearer of the India contingent for the 3" Youth
Olympic Games 2018?

a) Mehuli Ghosh b) Saurabh Chaudhary

c) Manu Bhaker d) Lakshya Sena

3augl WdH eelliblld Gumily — 2018 & HaubsHHe0 @bHW BT FLOHII
Qg6 wWImir?

a) @l Bxmmad  b) QFenyll Feybfl  €) oapl LITSHEST d) eodsgwm GFeurm

answer key
101.b | 102.
111.d | 112.
121.a | 122.
131.c | 132.
141. b | 142.
151.a | 152.
161.d | 162.
171.a | 172.a
181.c | 182.c
191.c | 192.a
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